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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper. _ |
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Attempt any Five questions only.
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1. - (a) Whatdo you undersand by production possibility curve ? How does production possibility

curve help in explaining the central problems of an. economy ? : 10~
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Find the equilibrium markei price and equilibrium market quantity for the following ‘demaﬁd
and supply function : _ .5
Demaﬂd function : P = a - 5.Q
Supply function cP=c¢c+dQ |
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Discuss the control of prices. Explain the consequences of price flooring and pr‘ice.
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Describe consumer surplus. How 1s Fhe consumer surpius affected by an increase and
decrease in price ? Draw appropriate diagrams. B 5
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Prove that the two parallel straight line d-emand curves have different elasticity at a given
price. | o ' 10
Mﬁﬁqﬁ@ﬁ@mm'awww%aﬁﬁ?ﬂa
Fer-3Tem ol ¥ 7 -
Explain the relationship between price elasticity of demand and total- revenue. - - 3
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Dis’;inguish between Law of Diminishing Marginal Utility and the Law of Equi-margihal
Utility. ' ‘ 1.5
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.Draw an indifference curve and explain why indifference curves are convéx_to
origin 7 , | 15
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Derive demand curves with the help of an indifference curve and budget line. 10
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A person spends all his income of Rs. 800 on two commodities X and Y, the prices
of which are Rs. 25 and Rs. 40 respectively. Construct the budget line and cal¢ulate
the slope of the budget line, ) .5
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Distinguish between returns to a factor and returns to scale. ) ' 7.5
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How is the long run average cost curve derived from @e short run average colst
curves ? | ' 7.5
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Describe the equilibrium conditions of a firm under perfect competition in the short

Tun. ' | 10.
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Why is it said that the equilibrium condition of a firm under perfect competition in the

long run is allocatively efficient ? o 5
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'Writ;:-notes on any ﬁvo : . . - | : ' (7.5,7.5)
(@ ?ﬁce Mechanism and itg r;)le in le:fflcient‘allocation éf r‘esoAurces
(6)  Elasticity of de_m_an& at differ(_ent points on the straight line demand cu;'ve.'_‘
(¢) 'Derivation of supile curve of a ﬁrm and industry under perfecf competition.
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